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A

FV au Kg 5,00          FF 40 000,00    

PV au KG 7,00          Q.te Kg vendus 50 000,00    

[(50*7)-(5*50)-40] 60,00        Bénéfice 60 000,00    

B

FV 10,00        FF 48 000,00    

MC 60% FV Bénéfice 12 000,00    

[¨10*60%] 6,00          MC

[(12+48)/6] 10 Pièces vendus 10 000         

C

FV 7,00          FF 56 000,00    

MC 30% rec. Net Perte nette 5 000,00-      

7 = 70% [7*100/10] Prix vente 10

[(56-5)/3] 17

Pièces vendues 17 000         
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D

FV FF 45 000,00    

MC 50% FV Bénéfice 15 000,00    

E

FV FF 42 000         

Recette nette 96 000      Bénéfice 6 000           

[96-(42+6)¨] 48 Frais variable

[48/48*100] 100%

MC en % sur les FF = 100%

F
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G

FV 65% Rec Net FF 60 000         

Recette nette Bénéfice 10 000         

[ x - x * ,65 - 60 ] = 70
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